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1. sin~!(1) %‘m‘mg@qwﬁfaﬁa?}r | | ' .1

Find principalvalue of angle sin™!(1).
K+4 -1 a - '
2. ?Jﬁ:an'azé[ 3 K_G] [3 _Ja‘té’laaﬂaﬁmﬁ%@r 1

e | 2 M hen find the value of
If matric . 3 K-6 3 _4 , then fin cvauepa.

7 4 -1
3. WRfoes A=|-2 3 T 799 4 1 WEEUSH ¥ »
' 1 =5 2
7 4 -1
Find the cofectors of element 4 in determinants A=|-2 3 0
| 1 =5 2 F.9.3.
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4. e e f(X)=xx__39,x=3uxm%aaf(3)Emnﬁsﬂaﬂ' 1

x2—9
Xx—3

If function f(x)= is continouss on X = 3 then find the value of f(3).

1 | | |
5. .[ f+ cocox aﬂx%uﬁ&im_ﬁﬁﬁl 1

: _ | 1 |
Integrates with respect to x _[ \/*’_
Y Jl+cos2x”

6. O y=x, x= 1 9U1 x-3181 Q TREg OF F LIRS @ AT | 1

Calculate the area of the region bounded by curve y = x, x = 1 and x-axis.
| s \2 L |
) d7y | . dy , : .
7. AaHd THE 2 o~ 0 H um uE wife Tl 1

Find the order and degree of given differential equation :

iy Y d
DES
dx? dx

8. gfew 3i =t fgF w9t fafgd |

Write direction cosines of vector 3i.

9. uﬁﬁﬁmﬂﬁﬁﬁt@aﬁwwﬁmw%aaﬁmwaﬁmmsaﬁaﬁ
WifeRa a1 o,

Calculatethe probablity of sum of two numbers 5. If two dice are thrown randamly

10. 3fE yuitel & wg=a Z ¥ Ghwam *, a*b = a +

; b+1, vabeZ gr vfufag :
7 Fifm 5 * 7 i @ e 3 | ®, W e
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An operation * defineasa *b=a+b + I,~a,beZ in the set of integers Z. Then

prove that the operation * is commulative and assosiative.

6 =7 0 .
4 2 -5
Ifg g A=[ ]aan B=[-1 2 5| %, fag Fif : 2
1 0 3
1 0 2
/
(AB)T = BTAT
| 4 2 -5 6 70
If matrix A=l o 13 |and B=|-1 2 5/ then prove that (AB)T = BTAT
I 0 2
=1 wem & fod A Wi =1 v S 2

f (x) = e7* sinx
Prove the Rolle’s theorem for given function :
f (x)=e™ sinx |
[ uimm |w ) fafis wfew fafed ) 2

Write two different vectors with equal magnitude. http://www.rbseonline.com

. \ 1 (A} 1 B) 2

P(A)==,P| =| == i P
7T A 9B T ¥R &, f5 P(A)=7 [B] ZWP(A) 3 & @P(@B)
&1 91 A HA | - 2

] A 1 BY 2

Two events A and B are such that P(A =—,P[—-) =—and P| = |=Z
(A) ) B > Y 3,thenﬁnd

out thevalue of P (B). _ | |
fAgiEEiReasa: 3
tan™! ! +tan™! L ’=lan"'i |
1+2x 4x +1 x2

I3
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Solve the equation :

1 -1 1 -1 2
-l +t -=tan —5
1T+2x 0 ax+l 2

tan

d
16. ?‘—?’{' ‘ﬂlﬂﬂ'ﬁﬁ'&qﬁ':

t .
X =a[cost + logtan E),y =asint

t .
I-’ind-c-lz if X =a[cost + logtan -—),y =asint
dx 2

17. T x3 +y3 - 3axy = 0 7= fag wif :

dzy _ 2a°xy

dx? (ax _ y2)3

If x3 +y3 — 3axy = O then prove that :

d%y 2a°xy

ax® (ax-—yz)s

18. THEER HITE ¢

2
Jx +8x+4.dx
x3—4x

Integrates :

J-x2+8x+4

.dx
x> —4x

C- dy
19. fag =i fd ¥= T+ Cx aqmwﬂmﬂ(lﬂ)dx

: dy oo
Prove that the solution of differential equation (1 +X ) dx (1 +y ) OisyY=
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% Y 1 A% 7m Fh, s W g A (1, 1, 1), B (0, 2, 3), € (2, 3, 3)
g1 - 3
Find the area of a triangle ABC whose vertics are given below :

A(1,1,1),B(1,2,3),C(233) -
FE FAT FT 5% TE6 T 0.25% AECS & o1 THa & | TF FHE 91 A A Bl

A= T T ¥ 1 7Y 5T 3 qEH €1 ok WAl § AfE Teul @ Afeensii i WA A
gl .. | 3

Imagine that 5% male and 0.25% female have white hair. One white hair prson
select randamly. Find the probability of male. If men and female are equal in

numbers. :

1 1 1 :
A A= 2 3| gt A~ g FI qen Toe werm Q Frefafea e e

A-65-6.5

2 -1 3 |
frma &1 g i 4
X+y+2z=0 ‘
X+2y—-z=9
x-3y+3z=-14
1 1 1 _
If matrix A=|1 2 -3 then find A™! of A and solve given system of linear
2 -1 3
equations with the help of above
X+y+2z=0
X+2y-z=9

x—3y+3z.=—14 o
we f(x)=|x ~1|+| x+2| @ swE (0, 2] H SreFeraN T whaw W 4

Examine the diffrentiatality of function f (x)=| X — lf+ ] X+ 2] interval [0, 2].

3fYRad Z = —x +2y | 4
FAUY Xx>3T9x>0,y>0 | |
X+y>S5
X+2y=>6
Maximize Z = —Xx 42y ' . .
- - - F.Y3.
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S.t. X>3 !
X+y>5 |
X+2y>6
and x>0, y>0
6

THEHE Hifsd je‘”‘ cos4x cos2x . dx
Integrate : JB4X cosdx cos2x . dx

31erat (OR)

_—_
e w3 Jlog (1+cosx)dx = log, (%]
: 0 :

T 1
To prove : Jlog (1+cosx)dx = log, 5]
. 0

2 2 “
ﬁﬁ%ﬂi*”;—g‘l o @ ;+—=1 %nwa?ﬁagéﬁmmmaﬁﬁﬁz 6
a

2 2

_ | <
Find the area of small field between ellipse a—2+?‘=1 and Iine; +-i-=] )
4T (OR) |
T4 %2 +y2=16 T @1 y=x T x- aa%nwaﬁumagahﬁm%aaﬂm

TG HifT |

Calculate the area of the region bounded by circle x? + y? = 16, line y = x and
x-axis in first quadant.

_y+! 1 x+1 y-2 ‘
=7 — , 7 = 2
3 R — ] 6
x—=1 y+1 x+1 Lo
Find minimum dlstance between given lines - lia‘_ =7, =7 Z=2

-3 1
31eEt (OR) :

RS ?-(ﬁi.+2j—3k)-+‘7=0 W g F E ™ T g @

: -
Calculate direction cosine of prendicular on the plane . -(6i +2j —3k) +7=0 from
the - orizon.
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